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A 2 0l & A &2 & Al A
2018 & =04 LBHSIAH XNIRFE
fAM: ANAREE W
o ABIS 98 SBHY NHBIAUA HS
S SEE WESAIX I DAL AE (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEZS 0 3,754,068 3,884,107 A 130,039
= 482,795
= 30,000
Al 3,241,273
MRS 28t SR NHHFAEA MB 3,696,272 3,842,395 A 146,123
= 482,795
< 30,000
Al 3,183,477
SEE HE S AR DA AE 371,022 216,082 154,940
= 142,595
Al 228,427
HESAKIL 22 F& 210,904 198,559 12,345
201 2et24d] 209,904 197,559 12,345
01 At 22l 209,904 197,559 12,345
OMESANXIN HE =2 206,904
O &= X1 Ot
46,3002 * [457,766Z Xl * 0.5 * 90%]/74. 128,193
4
O2dmMz
46,300& * 1,700Z XI * 50% *» 30% 11,807
OO0l & 46,3008 * 7002 Xl * 50% * 70% 11,344
OEXNO==2
46,3003 » 8,000& XI * 50% » 30% 55,560
ORS&tEIIAZE 3ANFE MH 3,000
O=2AMF & 10,0003 = 502 = 6=l 3,000
203 YR =] 1,000 1,000 0
03 AIZ=XH 2 =AH| 1,000 1,000 0
OXNEZE JR2FA 1,000, 000& 1,000
HEBAIXIOL QEY BIASSAALY 2 AHOIE 17,523 17,523 0
201 £B-2dH| 17,523 17,523 0
02 =224l 17,523 17,523 0
OQALHANAE X2 YUOIE 17,523
OXJt & SAXE JU0E(SE, ZEXIH)
123 = 446 ,000Z Xl * 23| = 110% 11,775
OEHI=E 2 HHOIE(ZEXNI 0Is2)
90& = 52,000Z Xl = 110% 5,148
OSHEZ(EEXN, &2, 2 S) SUOE
600,000& * 13 600
HESARIN G2 FE(=2H]) 142,595 0 142,595
= 142,595
101 @124 dl 37,511 0 37,511
= 37,511
04 JI2ZHHZ2XREE S 37,511 0 37,511
OME S AIXIJF A2 (4) 37,511,000 37,511
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= 37,511
201 LBt 97,984 0 97,984
= 97,984
01 AP 22| H| 97,984 0 97,984
OMEZ2AXI} =2 97,984
O&d&ss=x&
46,300 * [457,766Z X| * 0.5 * 65%]/74. 92,584
4
= 92,584
OEZ204AlH] 8,000& * 5% x 135 5,400
= 5,400
202 o4l 7,100 0 7,100
= 7,100
01 2L I 7,100 0 7,100
O=L0 bl 20,000& * Hh&H x 71¢ 7,100
= 7,100
jpgred=2 291, AL 274,688 282,477 NT,789
negedas 4248 274,688 282,477 AT,789
101 21 214| 20,688 20,637 51
04 JIZtHIZ22XNSES 20,688 20,637 51
oHgEg=Z X8 18,795
(@)=l 60,240 * 2% x 262 * 62 18,795
oOBg J|&a8g=2 1,893
OALEE 18,795,000 = 3.06% 576
OIAEE 576,000& * 6.55% 38
O=281Hd=2 18,795,000 * 4.5% 846
onsaEEd 18,795,000& * 1.5% 282
OMTHEE 18,795,000& = 0.8% 151
201 Bt 254,000 258,000 A4 ,000
01 AP 22| H| 254,000 258,000 A 4,000
oNgsd=s 242 250,000
OlgdlE 252 800,0008 = 250A 200,000
OZSANEXNIN Z2EZEI =52
1,000,000& * 50A 50,000
OMNEREHHZ RIIEEN 222 2X2 4,000
ostg=2 X2 160,000& * 25A 4,000
TAHR PE Y B 584,010 618,604 134,594
22t88 NE 5 223,000 250,000 A 27,000
201 et 3,000 0 3,000
01 AtR 2l 3,000 0 3,000
OZAFE ANAEY T3 ZLE 442
3,000,000 = 13| 3,000
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02 & AR b 220,000 250,000 A 30,000
O=2AdE AAE N3
220,000,000& * 13l 220,000
SUHEE AEEH & AAE RAE=> 361,010 368,604 AT,594
101 @124l 21,590 18,904 2,686
04 JIZHHNZ2Z2XNSE+ 21,590 18,904 2,686
O2IINEF(42E 8) EXZAM 22
65,3803 * 2F = 150 19,614
OLdg JI&a2E=3 1,976
(OFaRz =g 19,614,000& * 3.06% 601
OFIRAEHE 601,000& = 6.55% 40
O=0d=z 19,614,000& * 4.5% 883
OnE:Ed 19,614,000& * 1.5% 295
OtTHEH 19,614,0002 * 0.8% 157
201 et 339,420 346,820 AT,400
02 2324l 339,420 326,820 12,600
OSI2EXNFHEAAE(KLIS) RAES 29,364
OH/W 1,440,000& * 128 17,280
O&&S/W 1,007,000& = 12&8 12,084
O=JIE22FENMAH |FXE=HI 28,740
OH/W 1,026,000& * 12&8 12,312
O&aZSs/W 1,369,000& * 12& 16,428
OWIS ANIAE X2t 23,364
OH/W 721,000& = 123 8,652
O&ZS/W 1,226,000& * 12& 14,712
OJd2 TANEEANL2E RXELH| 4,500
os8s/Mm 375,000& = 12& 4,500
O=clANEEZ3 = NMAIAE RIE=H 14,184
OH/W 882,000&  12& 10,584
og2&s/M 300,000& = 12& 3,600
OMERAXZHAIAE KA H 624
OH/W 52,0008 * 12& 624
O32¥E EEALE 2XE 24| 238,644
28 S/W 14,044 ,000& = 128 168,528
OH/W 2,075,000& = 12& 24,900
o&s s/ 3,768,000& * 12& 45,216
Jl2suEE 2el 1,950,000 1,950,000 0
SAXNEE B (ZHAFNE) 1,950,000 1,950,000 0
403 MtXSHHS =0l & 1,950,000 1,950,000 0
02 B 2SOICHeH 2R 2 E A I 1,950,000 1,950,000 0
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
©1/1,000 =X XL M&E22
1,950,000,000& 1,950,000
A&zl L THZAL 362,700 626,781 A 264,081
= 340,200
= 7,000
Al 15,500
ANES 88 22 15,500 248,600 A 233,100
201 et 9| 12,100 170,000 A 157,900
01 AP 2t 2| H| 10,900 170,000 A 159,100
OsY NEXT M 30,0008 = 33004 9,900
OXNEEMMEAIRES FAANZE ME
10,000& = 508 = 23| 1,000
02 Z2=2=2494| 1,200 0 1,200
OXNEMMZEZAI 2HIY HIEE AHA SAR=
25,000 * 404 = 12&€ 1,200
405 Ko SHI 3,400 0 3,400
01 XAt 2 ZF S| 3,400 0 3,400
OXNEMEZAI 2HIY HIEE AHA S
850,000 * 40H 3,400
INESPHN ENUN BN ] 340,000 371,000 A 31,000
= 333,000
& 7,000
201 LBt ]| 340,000 371,000 A 31,000
= 333,000
== 7,000
01 AP 22| H| 340,000 371,000 A 31,000
OKXNEMEZAL AIY =2 =422 (2H])
333,000,000& = 13 333,000
= 333,000
OXZETEA AP (& HI) 7,000,000 = 13| 7,000
o= 7,000
ANE22GR =& 7,200 7,181 19
= 7,200
101 21 21d| 7,200 7,181 19
= 7,200
04 JIZtHIZ22XNSE S 7,200 7,181 19
OXNEZAZ|HPE BXROIE2(4H) 7,200,000 7,200
= 7,200
e I H2 T8 =4 153,852 148,451 5,401
o= 23,000
Al 130,852
C2HFA 29 2 EE 90,852 92,451 A 1,599
101 e1214| 21,590 18,904 2,686
04 JI2tHI22XNEES 21,590 18,904 2,686
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Chelr 2D I 2 E2E FL (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OERHE=AAIE LHEIAMN ARY
65,3803 * 28 = 150 19,614
OLE JI2=2E3 1,976
(OFaRzg-g= 19,614,000& * 3.06% 601
OFILAESH 600, 188& * 6.55% 40
o383 19,614,000& * 4.5% 883
ons=sg 19,614,000& * 1.5% 295
OMTEH 19,614,000& * 0.8% 157
201 Let24dy] 45,570 46,200 A 630
01 At 22/l 45,570 46,200 A 630
CHSHIH M A2B3 36,900
OBFALXI 800,000& * 65 4,800
OHSHSEH X2 AHE
2,000& = 1004 200
OExdol= 200,000& = 24 400
OnsgsH 7,000& = 4,50004 31,500
OZ2ZH 23 4,300
(OF=PN 50,0002 = 208 1,000
Odl = 330,000&  3MIE 990
og3 770,000 » 3MIE 2,310
OL2HF=AREE 3ANFE HH 1,000
O3AMFHE 10,000& = 508 * 23| 1,000
oOL=2g=Ax E22F ME
1,000& * 3,000H 3,000
OADIE kais S8R
15,4004 = 204 ~ 123 370
403 UtXSHHSA=0l& 23,692 24,107 A415
02 212 SOITHEH X 2= 2 S A b 23,692 24,107 A 415
O2NELFBAAY R4S L 2| 13,918
OGISH & S X &= 2,400,000 2,400
OKAIS 2d X & 11,518,000& 11,518
OE2Y=xFzA J2k RAE=S 9,774,000 9,774
E2Y8 Y ASHS 8 63,000 56,000 7,000
< 23,000
Al 40,000
401 AIEHIZ 28I 63,000 56,000 7,000
< 23,000
Al 40,000
01 A& Hl 63,000 56,000 7,000
OT=2H=A SHUAIE X
500,000& * 600H 2 30,000
OZATZE S T2HAUAA &X(ZHI)
500,000& = 3204 16,000
< 16,000
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N X8-S (3H) - MEAY - B %Ei HR=2
O=2JINEHsE AX(EH|)
200,000 = 3504 7,000
& 7,000
OER2HZTA CHHAYE SXNES
200,000& = 5004 & 10,000
HHSHAY (ANEHE ) 57,796 41,712 16,084
Ayl 57,796 41,712 16,084
=3l 57,796 41,712 16,084
201 et d| 21,556 18,072 3,484
01 AR 22l ] 21,556 18,072 3,484
OJl2ge4sd S=AH (J=Hdl)
500,000 = 17H 8,500
o3I (J1=ZHl)
8,000& * 179 = 82 x 12& 13,056
202 044l 32,640 19,440 13,200
01 2L Y| 32,640 19,440 13,200
O=2WAdl (21=Fdl)
20,000 = 17 » 82 * 12& 32,640
203 €2 F=&d| 3,600 4,200 A 600
04 ENSIE LR F=XH| 3,600 4,200 A 600
©J|Z= %M (20021 0]56}H) 300,0008 = 12& 3,600




